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121. The following information has been

121, Frefefen gomm o Wiy @ #
extracted from the books of a sports club :

Subscription received during the year
2015-16 were ¥ 1,80,000. The amount

AE-IETH | A T
31-3-2015 | 31-3-2016 k
. ® ®) 31-3-2015 | 31-3-2016
Subscription 45;000 7 6,600 ® ®
outstanding b £ ST =T 45,000 6,600
e v i o W o 41,000 13,000
advance o 2015-16 % KW T 1,80,000 =T -

IS g3 | I Wi 31-3-2016 ¥ 3

of subscription to be credited in the T = T A e B At W
‘Income & Expenditure Account’ for fr g
yended 31~3—2016 will be : (1) T135600 (2) 122400
2135600 “(2) T122400
( @ (3) 147400 @4) %1,69,600
(3) 147400 (4) <1,69,600 3
( 122. Which of the following is not an 122, frefefe & @ s gEm ®
: attribute of reliability of accounting  {) .o © fovaFIgaT @1 o WA T & 2
information ? \{]Y%D(,_, 0 1) frsgemr o<
(1) Nutrality (2) Timeliness "?{U‘ 2) HHIEEE r . il
(3) Verifiability (4) Faithfulness |9 (3) wwIfere FA ht A |
(4) 15| :
Y

123. Which of the following is correct ?
(1) Operating Profit = Net Profit —

123, Faddsmarwd &0

Noo-Opert K 'r‘i 0,0(1) U M = Y& AW — e

on-Operating Xpenses +° 1\ O ) A
Operating Incomes. Jt\]’()o - q + A9 A"
g (2) Operating Profit = Net Profit — 5 YUR) T A = O N — SR
‘A Non-Operating Expenses - /

Operating Incomes. L 0C 22 PR A AR ?ﬁ
=29

(3) Operating Profit = Gross Profit % %3) VEAEH WM = WA e+
+ Non-Operating Expenses — 7 | ST T — ST A ¢
__—=Non-Operating Incomes. i %

(4) 4})perating Profit = Net Profit + L, (4), 7 WA T = Y& TN + ATE
/Non-OWraMg Expenses - | 0/9 T — I 2T &L‘b
}Non—Operating Incomes. \C{; 0% o0 QA © % % ,‘)Z

/ ! E = (¥ \ ,0 2
/ \\ : \ ) 00,2 \5/‘5((0 G/
i . e <t R
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124. While preparing financial statements
if, closing stock is given in the trial
balance then it will be :

(1) Debited to Trading Account

/{2()\ Presented in the balance sheet
' as an asset

3 Credited to Trading Account
Credited to ’IY‘)egmg_Acm.wlt as
well as will be presented in the

balance sheet as an asset.

125. Which of the following is not an
element of computer system ?

Procedures  (2)
(3) Software

126. Which of the following is a software ?

(1) CPU (2) Monitor
: ; MS Office  (4) Printer

127. Which of the following is not a basic
component of data base ?

(1) Bit (2)

0 0 3 Bye @4

| 128. A partner withdrew ¥ 20,000 at the
2 end of each half year. Interest on his

070
il User

ield

q total drawings will be calculated for
& how y months ?
: (L6 @\3
£ 13 ) 45

o0 @ Interest allowed on partner s loan
e will be debited to :

0« (1) Partner’s Loan Account

A

' (2) Partner’s Capital Account
\j})/Proﬁt & Loss Account

'v[ 0 (4) Profit & Loss Appropriation

Data Security
(4) Connectivity

@)

S1

124, foeiig fyaror &R wa 9o Ay oW
i weme | fan @ € a| 9e
(1) =i @R & 99 9§ g9
SR
(2) et foreror # v wmfer o w9 |
I SR |
(3) mﬁwaﬁ%wwﬁwﬁr
WA |
(4) =aiE @R % ST e e ek
foaror # wer wefer & w9 § g
A |
125, Prfefees & ¥ SR-W T X
HOTTAT ST e el ¢ 2
(1) wrifafy
(3) WA

(2) ey
(4) T

126. Frfafas § | $H-91 UH SR 7
(1) ddyg (2) HWFRT
(3) wuwsiew (4) WX

127. Poefefas & @ TeEE w1 W °9SH
ﬂq;ﬁﬁ%?
(1)fi‘az (2) uEERal
3) ﬁs‘c‘ 4) S
128. U% WERR USE A5 o9 % Id H
T 20,000 T TG HE & | IHEH FA
e WX fpeR A w1 = Rl
ferar s 2
i 8 (283
3) 15 4) 45

129, TR & 0T R I bl fee e v ¥ :
(1) WERR & %0 @/ 3§
@ R & i e A
- (3) T @ R '
@) e e T |
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130. Ravi and Mohan were partners in a
firm with capitals of ¥ 3,00,000 and
T 5,00,000 respectively. Kumar was
admitted as a new partner for 1/4™
share in profits. Kumar brought
< 4,00,000 as his capital. The value

of goodwjl of the firm will be :
1) ~<X4,00,000 (2) < 3,00,000

(3) ¥5,00000 (4 T6,00,000

131. Q, a partner in the firm of P, Q and
R, died on the Balance Sheet date.
His share in the profit of the firm, in
the year of death, will be debited to :

(1) _Profit & Loss Suspense Account

) Profit & Loss Appropriation
- Account

(3) Proﬁt & Loss Account
<(4) . 'Profit & Loss Adjustment Account

19 e (,poq st et

132 In case of dissolution of partnership
firm, which of the following sections
of the ‘Indian Partnership Act, 1932’
provides for the settlement of assets
between the partners ?

45 (2) 47

psd
(3) 46 @ it

133. A bill of exchange drawn by the |

creditor upon his debtor is :
. ? T ¢ pV\‘J" eu})
&)’ apromise to pay

order to pay

(3) Thoth a promise and an order to

' pay S

(4) neither a promxse nor an order
to pay

d{j (D

e ———

'COMMERC

130. ¥a T Aiew w9 T 3,00,000 @@

Z 5,00,000 #t G5t & W wH A

TERR & | & | 1/4 907 ¥ FAR B

T AT TRER % 9 § ya9 fGam mw o

FUR AT Gt F €9 H T 4,00,000
AT | B W Ef w1 ged €

(1) T400,000 (2) % 3,00,000
(3) T500000 (4) Z6,00,000

131, W, % TN AR F EH F TF R

=t geg feerfer formor =t fiffer =t @t et
¢ 1 g % ad § wd & T § 59 A
aﬁ%ﬁzﬁwm:

(1) et v am A

(2) wmM-E fafEeT @ &

(3) wmEH ER A

(4) g ST E

132, R W % T T §
R afufEm, 1932° Ft ®E-6 ¥R

J@ma

E)’? 2Nl @
(3) 46 4) 48

133, ﬁﬂmmmwmwi‘aﬁmw
ELIR
A HA B T

(2) JTH FH FARA
() JEHE FH W FET a9 AR¥
; LG
T Al P FA BTG A &

@
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134. A Proforma Invoice is sent by the :
(1) Seller to the buyer
Cons1gnee to the conmgner

(3) Cons1gner to the co.
: uyer to the seller

g

&
-

135. X and Y are co-venturers. For
recording transactions pertaining to
joint venture X will prepare in his
books

Joint Venture Account and Y’s

Account.

Profit and Loss Account and
Y’s Account.

(2)

Joint Venture Account and
Profit and Loss Appropriation
Account.

Profit and Loss Adjustment
Account and Y’s Account.

3

Q
ﬁ00‘|(4)

136. Commission paid to selling agent is
po © (1) Administration Overhead "
\( (2) Distribution Overhe_g_d_, -

/ @Q/Selling Overhead
0 (4) Production Overhead
09. © A
00
7. Economic order quantity is that
quantity which keeps :
. (1)  Order cost at the maximum and

;%(} carrying cost of materials at the
)

minimum.
Order costs at the minimum
and carrying cost of materials
at the maximum.
(3) Both order cost and carrying
cost of materials at the

inimum. :
\}4/‘;‘)& order costs and carrying
—_~ costs of materials at the

maximum.

€))

S1
134. AT SiTep AT ST E

(1) Tersha gwT shem

(2) W §R W H

(3) WRuS T W

(4) vpar gRT fersher &t

T 91 A1 WE-SUHHT € | WE-3ued 9
T AR T AET FA F e T
STt Qehl B SN

(1) YEIUHH QT 7T a1 B0 Gl
(2)

3)

135.

SY-ET @ &1 o & @

ICIEPISEREIN)

VE SO G a9 9
1 T

C))

136. fosa wsie it sy fefam T SHIvE §

(1) i sufea
(2) faeror Sufemg
(3) Fowa sufe
(4) SwEA IR

ﬁamﬁmumaawmé?ﬁ%?ﬁ
WA

(1) SRy &V Ht Afuswas qar qe
% e H AN B A
SRYT AT < AT AT HIA ht
e ! AT i ST

| FRY AR A A W SR
Y A S B A
IR A TN W B SR
I AT ST tfepan

137.

)

3

)



I

Vi Toriag

portlo of raw material that is lost

S1
138.

i the processmg and the value of this
s cannot be recovered is called :

% : 4
@ Wastage L%&p
(3) Spoilage (4) Defective

.

139. Classification of as
indirect materials, indirect labour and

overheads

indirect expenses is known as :
(1) Functional Classification
(2) Element-wise Classification

(3)
(4) ~Both functional as

element-wise classification

Behavioural Classification

well

140. Sales of X Ltd. for the year ended
31-3-2016 were ¥ 2,00,000, variable
costs ¥ 1,20,00Q and fixed costs were
X 40,000. 1t’s profit/volume ratio will

be

3) 30%

(2) 40%
4) 45%

_141. Calls in Advance is presented in the

balance sheet of a company under the
head :

Mon-Cunent liabilities

@ Sy ligbilities
@ Other current liabilities

(4) Other non-current liabilities

Vo

cmwﬁ

(6)

as

4
q)a

COMMERCE

138, e AT 1 9 AT S uRET § T @

139.

ST & F $W @ F 5T F O A
T TR ST W 8, FEer &

(1) o= ) A
3) @ 4) et

SIS HISA, STHeTT HIGY T e
=4 &% ©7  JuRedl @1 ey ST
A

(1) =i Tt

(2) TEEFER it

(3) HERRERY FERT

(4) I AT RATAR SR FAT

31-3-2016 =t w9 gQ o F fow vy
fefire =1 fassa 2 2,00,000, TRedeie
A ¥ 1,20,000 wEr @R @
¥ 40,000 off | T T/ SR
B
(1)

3)

25%
30%

40%
45%

2
“4)

. T % Tl faeror & <atfim g @t
e vl o afenfer e ST & aw b

=] T
e e
I -] S

)
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142. Y Ltd. offered for subscription
4,00,000 equity shares of T 10 each.
The company received applications
for  3,00,000 shares. Since the
- subscription was below minimum
subscription, the company could not
allot shares and refunded the
application money. What could have
been the minimum subscription in

this case ?
(1) 3,60,000 (2) 3,20,000
(3) 3,80,000 (4) ~3,40,000
._ 82 000
g

143. Debentures that are issued at
substantial discount and do not carry a

specific rate of interest is known as : ‘7700
(1) Specific coupon rate
debentures

‘ (2) . Secured debentures
3) Unsecured debentures

y

144. While recording journal entry for
interest- due on litures ‘Income-
Tax payable Accoun;

Credited
(2) Debited &
(3) Neither credited nor debited

" (4) Debited while payment of tax

to the government

Zero coupon rate debentures

145. An incumbrance to meet the
obligation under trust deed on certain
assets which the company agrees to
mortgage is called :

(1) Debenture (2) Share:

142, =i ffee 3 T 10 W aret 4,00,000
e oy AR ¥ wetad fRT |
S 3 3,00,000 I ¥ S WA
T | =am AREE ¥ AR B
¥ HRUT HOA W B AT TE B
TH T I A AR e & | I

Ten # =gead afRE feee e e

a1 ?

1) 360000 (2) 320,000
o0 (3) 380,000 (4) 340,000

dﬁw. F FUGR N FH! A T2 W AR FHT
TR E AW T W e H e
(1) fafere o= T o0

o (2) Giwa RO

/‘ (3) o A

L4 I R

144, FOGE T & 27 B W S HT 3T

T W
/C- )y ST fear S
,QQ;&H 1 e St |

S (3) A AR A & s e e |
(4) THR B B PEAH HH T TH
fepar e |

145. = foeiE & e, e S M 8
- ey el W wR R S e
TE X TeH Bl ¢, HeeT ¢ ;-

(1) o (2) W

(3) Charge 4

3) R 4) dE
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146. Rounding-off Rule for figures in the
presentation of financial statements
of companies is based on :

(1) A1‘19orised Capital
(2) Paid up Capital
(3) Turnover

(4) Surplus

147. ‘Money received against share
warrants’ is disclosed under which of
the following major heads in the
balance sheet of a company as per
schedule III of the Companies Act,
20137

(1) Current Liabilities
(2) Non-Current Liabilities
(3) Share Application

ending allotment
k@})/;hareholder’ s funds
148. Which of the following is not

included in the financial statements
of a company ?

money

(1) Cash Flow Statement

l(})/ Funds Flow Sttemeit

3) Balance; Sheet

(4)  Statement of Profit and/I,o{s'

> =
.fQ49. The Non-Current Assets of a
: —  company are ¥ 18,00,000. Its current
liabilities are ¥ 5,00,000 and current
assets ¥ 7,00,000. The Non-Current
liabilities of the company are
T 5,00,000. The equity of the

C y will be :
" %; ) ¥15,00,000 (2) T 20,00,000

(3) ¥12,00,000 (4) Z 10,00,000

@

COMMERCE
146. FubEl ¥ g faerot o el ®
QUi e o P s &
(1) g §&ftw
2) WweE It W
3) fEwraw
4) FIRFW

147, &t sfufwm, 2013 @ e 11 &
STHR G ot 3 Refer feremor F “afer-
T F foew W@ gARr @
et o @ frw g7 vide & siia
TYGT ST & 2
(1) =] JFan
(2) -] 3
(3) AT wifee S AR AT
(4) aivrures fAfewt

148, TF HOT % v faeon & Fefatad
o @ i wfafed 7@ E 2
(1) g ware feeror
(2) i v foawor
(3) feaf foawor
(4) - foaRor

149. TF ST @t Reare] Fufaar T 18,00,000
¥ | Tl 9wy 3 25,00,000 9T AL
Huafedt T 7,00,000 & | FE H AR
At T 5,00,000 & | St war @t

(1) T 15,00,000 (2) ¥ 20,00,000

(3) ¥12,00,000 (4)

¥ 10,00,000
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150. Which of the following is not an
‘activity ratio’ ?
(1)~ Inventory Turnover”
(é) Investment Turmover
(3) Interest Coverage

; Mr@dc Payable Turnover

151./K Ltd. made a profit of ? 2,00 OOG
for the year ended on March 31 2016

after - chmgmgjepmmahon of -

to general reserve. Goodwill
amortised was ¥ 14,000. There was a
net increase of T 6,000 in its working
capital. ‘Net Cash Flow from
Operating Activities’ of the company
will be :

(1) T 2,26,000

(3) < 1,20,000

(2) %1,32,000
(4) T2,68,000

~ 152. “A petrol pump needs to be managed
as much as a hostipal or a school.”
Which of the following characterstic
of management is highlighted i in this
statement ?

(1) Management is
function.

(2) Managementis a groizp activity.

(4) Management is all pervasive.

153. Which of the following is a
componento economlc enwronmcnt?
(1) Public debt

L/)/‘ Planned outlay in private and
public sectors.

(3) Nature of relationship our
country with foreign-Countries.

(4) Balance of payments and

| \ & (yl;%n'%e( in foreign exchange
r%oO 1" re

% 20,000 and a transfer of ¥ 40,000

a dynarmc

(3)~ Management is multi-dimensional.

®)

S1

150, Frefefea & @ F=-a s oEd
T T & 2 -
(1) Ty e
(2) FEw emEd
(3) =
(4) =R 3T Sad

151. 31 WM, 2016 it FA &R A AW ¥ F
fefirs 3 T 20,000 F1 IR FIRE
A q GEFT I H T 40,000 i
FXH & ¥R ¥ 2,00,000 F AW HART |
tReifm = T @ T 14,000 4
ettt Goft o g e T 6,000 o | S
w vEeE Ret ¥ Y UHE VAE
B
(1) ¥2,26,000 (2) %1,32,000
(3) T1,20,000 (4 72,68,000

152, e dgier i e w3

aEvgEar ¢, el U TegaTer sTIer
foener @t Bt ¥ 1 T HE @ v w5
frafafaa & 9 #F-d@ v SR
Bt & 2 -

(1) W& T s FE & |

(2) vEY O e e & |

(3) WS TEIEH § |

(4) vy e o

153. Frefofiga & @ AW weF A

(1) HEwT R
S (2 ot wd vt g d FrEif
=g
(3) Bt & e W & wad W
Wl
(4) ST 9y o ferel fafve de
T ufer

= .1_7 >




154.) For delegation to be effective it is
./ essential that responsibility be
accompained with necessary :

(1) ccountability
y\(é)Authority
) Centralisation
(4) * Decentralisation

155. ‘Defending the company in law suits
and avoiding legal complication’ is
an activity of which of the following
function of management ?

(1) Planning (2) Organising
(3) Staffing (4) Directing

156. Which of the following is not a
distinctive feature of Inflation
Accounting ?
(1) Recording

automatic.
(2) The unit of measurement is not
assumed to be stable.
(E;)/i(ealisaﬁon principles are not
" followed rigidly.
(4) Financial statements are
prepared according to the
historical cost assumption.

procedure is

157. Which of the following is the
cheapest source of finance ?

(1) Retained earnings
(2) . Bank overdraft

\,(*{ Debentures

(4) Cash Credit

158. Call money is short-term finance
repayable in

(1) one to fifteen days

(2)~ more than fifteen days but less
than three months

(3) more than three moths but less
than a year :

(4) more than one year

155. “fafuss weredl ® SO S A HEAT
HF WEE ® S ge

Wﬁﬁmwﬁ@m%?
ERISCE 2) WA

3) Frfeeor @) e

156. frifafaa & gErwlfa @t w1
fafeme wreror -9 & & 2
(1) etfveres ufear @ € |
(2) IO §EIE TR T WA K
3) aget fogral #1 FE 9 UM
- 78 e s
(4) focdta foeror dfcefes @

TRl & STER AT 9 € |

157. ﬁwﬁﬁﬁﬂwmmaﬁﬁaﬂ#w
L)
(1) e samsE=
Q) % Afufawy
(3) TR
(4) s ErE

158. wﬂmﬁxﬁ@mﬁﬂ%ﬁw ‘
A BT B &
(1) % =E A&7
@) wE A @ s e A R
R
(3) o HE Q S g T A @
(4) THETEQ AEH
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159. Which of the following is a shopping

pr91uct ?
Jewellery (2) Ice-Cream
(3) Sutionery () Medicings

BAVES i S R e

160. Which of the following is not an
~element of promotion mix ?

(1) Publicity
"(3) Personal Selling
(4) . Sales Promotion

161. Which of the following is a consumer
right as provided in the Consumer

_ Right to speech

(2) Right to free and compulsory
education

@ Right to be informed
(45# Right to free movement

162. Which of the following is not a service ?
(1) -WM&L@«B/S/
(2) Work of hotels .~
(3) Work of accountants

@

163, The full form o

(1) State, Weaknesses, Opportunities
- and Threats

r/(2) Strength, Weaknesses,
@» ~ Opportunities and Threats

Organising Olympics

P e

3 trength, Working, Opportunites
" and Threats

(4) Strength, Weaknesses,
Organisation and Threats

an

159.

160.

161.

S1
ﬁmﬁf@aﬁﬁ.&\wﬁ?ﬂﬁ?
(1) FmEe (2 oEEHE
(3) wRIE (4) wam

frfafaa & @ weew fuy w1 0@
P E & ?

(1) W&
(2) @™ H G
(3) et fosma
&) o vaee

frfefaa o @ HH-a1 ST SR
wﬁaarwvraﬁ:ﬁm 1986’ | fgar

TR

LN

162.

163.

SieH 1 SAHRT

fryes am sfed fwenm @
BRI

I & ST _
faty nfafafy @1 sifer

(03]

3
)

Prfefigs & S PT-H oHEFM AR L2
(1) USREARE o HE

() e w HE

(3) ﬁ:amﬁ"amm _

(4) aﬁaﬁm@aﬁwa@m

e # faga w9 ¢
(1) ez, defa, siiqefafes ws dew

By, diwifaa sigeiffes we 2y

o

@
3)
@
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164. Identify from the following the
marketing concept that consists of a

(12)

m

164. ﬁﬂ&ﬂﬁﬁﬁﬁﬁmaﬁwm
v wive e weewt w der

group of customers who have a Wfiﬁﬁ i & foreet steavaesant aer
szny/set of needs and wants. ‘Q’WWE’H’[?
(1) Local marketing (1) A famom
; 2) T e
- Individual marketing e
: (3) de fouom
Segment marketing :
4

(4)  Niche marketing @

165 Part of a brand that is given legal

165. i€ & TH 9T S HAA! G W&

protection is called ﬁwtudt;\&ﬂ Tl &, HEAT
(1) Brand name NS (1) wiEa™
o] et i v
@) BrandEt u/)z dt) (@
(3) Brand L (3) =T
4)

‘9/'I‘rade Markw mlfthh

166. Which of the following is not a
function of distribution channels ?
e o

$3 .
=

166. ﬁnmaﬁﬁﬁmmmwm
- TR T2

(1), Assorting ) T
Advertising @ frE @

“(3) Allocation (3) o

(4)” Accumlation (4)

167. Which of the following is not a

167. ﬁmﬁnﬁaaﬁ#ﬁ@gﬁ_imm

component of physical distribution ? m L
(1) Transportation (1) e :
(2)., Warehousing . _
Product Promotion (3) ;
(4) e T

(4) Inventory Control
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168. Orgahising events ~ involving

application of skills is which of the
following sales promotion activities ?
(1) Assigned Gift

(2) Lucky Draw

(3) Instant D‘raws

\/m

a complamt before an appropnate
consumer forum i
s g

Contests

-(1) Any regxstered consumer’s
association.

~ {2)" JAn individual who purchased
goods for re-sale.

(3) Any consumer
(4) Representative of a deceased

consumer

170. Co-ordination is :
a function of management
; @/ a characterstic of management
(3) the essence of management

(4) an objective of management

171 Allotment of securities by a company
to institutional mvesters and some
selected individuals is called :

Private Placement

(2) Offer through prospectus

&/(')ffg_{’fgg_sale_

(4) Rights Issue

S1

168, T TR F awEeE R e
%1 oA T a, fe o S @
T wad foran & 2
(1) =iiE SR
(2) v Y

(@) TOF
(4) e

169. =1 1 ¥ Susiaa BRA & He R
FIT T2l HT T ?

1) aﬁéw’r\qmsqﬁwm

) @m‘ﬁﬁﬁvﬁ_gﬂ: fawa & oo
A 1

(3) HIT STHE '

(4) Terst g TR A1 g

170. TR=E T :
(1

@ ()
3

(4) - VY I T T

171 T FEE! FRT TR A T 5o
_ Wﬁﬂéﬂﬁaﬁﬁﬁmaﬁnﬁgﬁrﬁm
aﬂﬂaﬂwﬁ%

(1) Foft fism

2) ﬁwuﬁm%wﬁm
(3) o % foe wema

4) et Fie

e T U H
Y S TR

1
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« 173. X and Y were partners in a firm sharing

profits in 3 : 2 ratio. Their capitals were
Z 3,00,000 and ¥ 5,00,000 respectively. Z
was admitted as a new partner for 1/4"
share in the profits. Z brought ¥ 3,00,000
as his capital. The amount of goodwill
Premium brought by Z will be :
(1) 30000

(2 % 1,00,000

(3)_ %50,000

,@)’) 2 25,000

. 174. The authorised capital of XX Ltd. is '
¥ 1,00,00,000 divided into equity’
shares of ¥ 10 each. The com
invited applications for issuing 80,000

U‘foshares  The issue was fully

~~ subscribed. All money was received.

Except the final call df !‘ 20 00@ For.

= \/© the year ended 31- 32016 the '

Hcompany declared a dividend of 10%

COMMERCE

172, Rafera.as & afuepes feheet oet &1 wehdt
€2
D .2
@ 3
(3 4
4 5
173.mmar§qwq;&%w§m&am

3 Z%Wﬁmmﬁlsﬂﬁ
st e T 3,00,000 T T 5,00,000
o | ST F w™ F 1/4 W & T T
T ISR S T | S S gt &
ﬁat{'\'3,00,000ﬁ13r1=§€§m@1ﬁr
iftrer 3 for o et e @y
1) 730000

(2) ¥ 1,00,000

(3) ¥ 50,000

4) 25,000

e T ffes @ sfuga
% 1,00,00,000 & it T 10 W S FHA
mﬁﬁﬁﬂﬁtlmﬁﬁsoooomﬁ
a;ﬁ'ha%ﬁat{aqﬁﬁamﬁaaﬁsﬁu
frimm qo: aﬁﬁrs‘rw s
mwtzooooﬁ@’lwwm
mtﬁnélsmrzi 2016 % AT §T
ot % fom FEE ¥ 10% % T @

174.

8; 6®  The amount of dividend will be : ST Y | T @ T e
L @ %10,00000 /DW(\’C» (1) % 10,00,000
n
(2) ¥ 8,00,000 é,o lo /V : (2) < 8,00,000
(3) 22,000 o | p O) €200
4) 78,000 0 S50
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175. Rupee was introduced in India in the
year

(1) 1834

176. Which of the following behaviour
will be judged as unethical by the
criterion of truth ?

(1) Doing personal business on
company time.

(2) Concealing one’s errors.

(3) Using company services for
personal use.

(4) Accepting gifts in exchange of
preferential treatment.

177. A merchant bank is also known as a
‘)/Commercml Bank
(2) Central Bank
. ‘(3)- '\invgstment Bank
(4) Development Bank

~ 178. Which principle of insurance is
violated when the insured fails to
disclose a material fact to the insurer ?

(1) Indemnity

(2) Utmost good-fai}h
(3) [Insurable interest
(4) Contribution

S1
175. mﬁmmmaﬁ ]

o
@) 1834

@) 1835
-3) 1757

4) 1609

176. W@ ) FE g Prefefea § & e
SRR T AT T A €

(1) et & g # it SR S |
(2) o TefeEr B fuE |

(3) Fooht swai &g HOH it Wane
ITGIT HEA |

@) ST SERR oW o IR
T HE |

177. % SURE q 9 AW A AT S
T
L@, TR %
(2) F=EEE
(3) fRwds
(4) T §

178. v (dmga ) ot & W
TRV TR Wehe Tl Hl 8, &t o %
mmﬂwwﬂmﬁ
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179. Joint Hindu Family Business is
- governed by which of the following
laws ?

(1) Indian Contract Act

(2) Companies t _
e

(4) " Partnership Act

180. A company becomes a distinct legal

entity with perpetual succession and
common seal from the date of

(1) Registration
(2) Payment of the reqmsme fi

3 “Tssue of
| incorporation.

(4) mmencement of business

certificate

181. Under which of the following clauses
to the ‘Memorandum of Association’
the signatories express the desire and

(3) Liability Clause
(4) Objects Clause

182. Which of the following document
contains rules relating to the
management of company’s internal
affai

‘Memorandum of Association

(2) Prospectus

(16) _ COMMERCE
179. G feg oREw saam Frefefed T
ﬁmaﬁ:ﬁm%mﬁﬂm%? '

180. Waﬁsﬂﬁiﬁrﬁwaﬁaﬁm
T T wiea ek fafire dui R
Tﬁﬁﬁ’&%:

(1) st @
(2) SETESE Y & P T ‘

@ mﬁmmwwﬂ-ﬂﬁw
(4) =TEE T FTA T

181, ‘oz Ser e ¥ Reg A % S
FETEREAT HU S ¥ ST ¥

mﬁrm‘ﬂ.ﬂ%?( 9 A

(1) i wL .

&

(2y/ ™ A Tyl

(3) wifEe T /@

4) I

182, Wt ¥ ofihe wwEl % e @
(1) g T e @
(2) wieEr o=
(3) . T AT o
(4) T FTEH
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183. Which of the following provide risk
capital ?\

- Debentures

u}ﬂ/EMMWsmmm

©)
)

Loans from financial institutions

Public Del;osits

184. In which of the following types of
retail trade there is high scope of

misuse ?

()
@
[©)
@

Single line store
Departmental store
Mail order business

Chain store

185. Which one of the following colour is

not relevant for bill of entry ?

b
@

3

)

Viole
Green
Blgg.

Bléck

186. Which of the following is a role of
WTO ?

(1

2)
©)
(4)

Financing internal trade
Concluding trade agreements
Engaging WTO agreements

Imples_nenting WTO trade
agreements

an

183.

184.

186.

81
frfofia & @ wifew Tof B SToT
A § ?

(1) =

(2) o &AW

(3) o deeEt @ A0

(4) WEH SHE

e ST 3 P R T
% oA SR TE el € 2

WTO o s Freian #f @ - &7
(1) TR =R &1 o |
) amgmsﬂa‘fa%aqm |

(3) WO i v 8 |

kﬁ94%hOEWMHmﬁﬁﬁ@Eggml

-
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187. Through which of the following
strategies of reinforcement managers
try to correct improper behaviour of
subordinates by providing negative
consquences ?

M’
2
€)
(C))

Negative Reinforcement

Positive Reinforcement

Punishment @

188. Which of the following theories of
leadership states that ‘leaders are

NS

Extinction

bory, not made’ ?
&Trait Theory
\(K Great Man Theory
3)
(4)

Behavioural Theory
Situational Theory .

189. Exchange of feelings and grievances is
which type of need according to ‘Need

Hierarchy Model’ of Maslow ?
@‘Social needs :
(2) Ego needs

(3). Safety and security needs
(4) Basic Physiological needs

190. Which of the following is not a cause
of business risk ? /_\

P
2% Motivated employees
3

(4) Human agtivfties

(1), Lazy employees

Economic activities

(18)

COMMERCH

187, Tae i Frafafas & & few g &

e & ot S TR o

TR S W ST ST e S

B T 1 U B § 2 :

(1) THRHS AT

(2) TERHS [AaT

3

(4)/ Taeia=

A =1 HA-AT fagia et € 6, oA
=T o &, ST @ S ?

(1) ferteren e

(2) Hew =R feET

(3) TR faEid

(4) uRfeafos e

188.

¥t F SMETAHA TEIHA WA &
STER el e Rhradl w1 -
e frefates § @ fFE UER @

€7 .
(1: RIS C e CRDE T
(2) I ATEHT

@[wamm
(4) T e STevaed

189.

ﬁqfaﬁaﬁﬁﬁwaﬂmaﬁﬁwaﬂ

e - A & 2

(1) el e
@ S T
(3) enfis et
(4) e fREd
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191, Oligarchic management is related
with which form of business

organisations ?
(1) Sole Tradership
(2)  Partnership

| KES) ) Hindu Undivided family business

(7

| (4) Joint Stock Company

192. Which of the following services of
| Department of posts is on the pattern

of courier service ?

(1) Speed Post

(2) Registered Post @

(3) Registered Parcel

-

(4) Money Order

193. Which of the following areas is

relevant for knowledge process

oz,

l ~ outsourcing ?
. (1) Administrative support

(/(2) | Investment research services
i \ f
' N

(3) Customer support services

- (4) Customer relationship

management

19)

s1
191. FAGEHS VEY HOEM WREd %
e 7 @ forw wwT & wafua § 2
() vEa @
(2) WERR
(3) fex afawiee ofew sawm

@) v Il S

192, = favor W Freifen § @ B
1 e e A o

(1) eI
(2) i B
(3)  tehge T
(4) A MR

193, frfofes & @ #-w &3 F= whear
(1) W e
(2) fraw STEE Jart
(3) VTESH Wer Hat

(4) EH Ay goY
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» 194. When interest is allowed on capital
which of the following is true with
respect to accounting equation ?

g}f Both assets and capital will
increase with the same amount.
Liabilities will decrease and
capital will increase with the
same amount.
ﬁ) Capital will increase and
_ decrease with the same amount.
(4) , Liabilities will increase and
\‘/{ capital will decrease with the

same amount.
. 195. A document which provides evidence
of the transaction is called :

(3) Debit Voucher
(4) Credit Voucher

-196. The accounting concept based on the
policy of ‘Playing safe’ is known as :
Full disclosure concept
(2) Consistency concept

Revenue Recognition concept
@

Conservatism concept
»197. While preparing ‘Bank
Reconciliation ~ Statements; ~ with

adjusted Cash Book, which of the

following will be recorded in the

Cash. Book to find out adjusted Cash

Book balance ?

(1) Cheques issued but not yet
presented for payment

(2) Cheques deposited but not yet

’\) collected. ’
@f Interest allowed by the bank.

(4) Anerror in the Pass Book.

(20)

197.

COMMERC

194, 5@ T W = e ST ¥ o
frfetiae & @ oraiEwT e F SR
F B W E ? :
(1) wefwt wen g ST A WEE
T Wt ghg B | '
@ @ i ¥ el F w
it e Gt o g Edt |
3) o o @ o F g el
e A .
@) wEe i & el § g
it qe gt o et B |
195. werg, St fet Wi} R R W&
AT &, HEAT & |
(1) e
(2) TG THE
(3) W FHOE
4y S SO

196. TEMAI SR ® Al W
(1)  oT SRRreRToT HeheT
(2) WETEIA B GeboT
(3) ST WA HehedHl
(4) wheaea S Wehea

weTifre e T WY A T
fERT SR T AT UhE T
9 T wA ¥ Frefetan § ¥ A
e T i fewar S 2
(1) ¥ Brif fg g Wy o
TR ¥ I R T T |
¥ o feu T wg
wmﬁaﬁaaﬁgl
e g T T =
urE g | e |

2

3
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198 ﬁe original cost of a machine is
¥ 5,00,000 and its useful life is 10
years. The net residual value is
estimated at ¥ 1,00,000. The rate of

- depreciation according to straight

line method will be :
(1) 10% * 8%
3) 15% @) 12%

199. The Trial Balance of ‘Vinay Traders’

as on 31-3-2016 showed the

following balances :

Debtors % 3,00,000
Provision for Bad Debts 220,000
Bad Debts R N0

f You are required to write off further
bad debts ¥ 5,000 and create a
* provision of 5% on debtors for bad &

doubtful ge?ﬁ's The amount of new

h%«ﬁa’ provision for bad & doubtful debts

ddp s will be =
(1) ¥ 15000

3) T14750 (4 T5250

opening

ain’s capital _ was
2,80,000-and closing capital was

T 4,00,000. During the year, he
introduced ¥ 1,00,000 as additional
capital and he made a profit of
T 80,000. His drawings during the
year were : :

R e L L
g

P
s
[ Laaad
@
~
éﬂ |

(2 80,000 -
(3) % 1,00,000 &
@) T 120,000

(21

S1

198. UF w¥iE @ §er @ T 5,00,000 ¥
o 39 IR SfeAwe 10 99 ¥ )
W I YE AR g

% 1,00,000 ¥ | ¥t Y@ vl % AR

B9 I ST E

(1) 10% (2) 8%

3 15% 4) 12%

199. @ e F 31-3-2016 H AR

forfefiae St st e ¥ :

IR % 3,00,000

a7 B MW ¥ 20,000
Za =T % 10,000

MR s & f e T 5,000 sfaReR
TaA O B ATERET HY a9 AR W
T & Wiy W ¥ 5% W uEEE
o W | gEa U SR o A T e
O A
WY 1) T15000 (2 9,750
(3) 14,750 4) R 525

200. S ¥ wRiww St T 2,80,000 @
aifem g5t % 4,00,000 & | = F WA,
T fafe §t & w9 § T 1,00,000
T q9r T 80,000 T O HAET | T9
% SN IHF AR K :
(1) 60,000
(2) ¥ 80,000

" (3) 21,00,000

4) ?120000

—
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